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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1

Ans

Ans

Ans

Q4

Find out which of the following sets form co-prime numbers. Questi?n ID :9888374539
frferfaa qH= H G FleT-ar e AT LA AT gl Choscn (%’;";t(';'s ;‘]Ans“'cmd
i_fl. 12,7
X5 (21,42)
Kg (3,9)
X4 (43,129)
The monthly salaries of P and Q are in the ratio 4 : 3. If P and Q get an increase of 10% and 5% Question

S ! ; : s 0888374548
of their existing salaries respectively, what will be the new ratio? ID:
Status :Answered

PR Q % AR+ daa &1 3d 4:3 §1 G PAHRQ F I I # FAM: 10%  Chosen,

der 5% T 9fe g5 ¥, A AT e A gem? Option:

v 88-63

X5 63:88

X3, 45:60

X4 60:45

The Home Rule Leagues set up in 1915-16 worked as auxiliary units of the . QUCSUOHOS%W-HOO

1915-16 3 T greer A0 P 3 3 R TERIF SFE B T T T A e Answered

o Shovr
Muslim League
e

# | Indian National Congress
W, A TSET Hiad

Extremists
3. Jifdariea
British Raj
X4 fafesr oo
Question
D :9888374530
Status :Answered
Chosen

Option :



Ans

Q.5

Ans

Q.6

Ans

Q.7
Ans

Q.8

Ans

Q.9

Fill uré;‘a'ij g;;;k with the most appropriate option below.
A= mc ing has come to stay, future financial transactions would be based on

wvai}l’(u.uz_ ¥ .
Point of Sale,

F;g;ﬁﬁﬁﬁ [ & gaifas 3uged g0 ¥ Read vu& )

ﬁ?‘i??RObOﬁCEWHWWTE‘THTW?, wiasa & facl oo
3. Ve T =
Wireless | gl
V', ey
. an Assamese wildlife biologist won the Royal Bank of Scotland (RBS) Earth Questiongeeg 4506

Heroes Award 2016. 1D :
Status :Answered

AT geg-died Sfg @At & ge dF i TRleds IR @ W) cposen
39t E10er 3EE 2016 Sfar Option :

Angoorlata Deka
X, 3R S
Aparajita Borkotoki

X o FITSar SiepleidT
Subrata Sharma
X, g rAT

b

Purnima Devi Barman
v, qiotHEr gl aHe
Which of the following Vedas contains treatment for diseases? Question 1D :9888374498
Status :Answered
oot o :?F foher dg 7 STRAT =1 37ER G %-? Chosen Option :4
Yajur
x| I
Rig
Ko R
~ Sama
A3 e
Atharva
W4 3T
HO_RSE :SERHO : : CURSE : ? Question 1D 9888374581
X 1. ERCUS Status :Answered
'?(-')' SECRU Chosen Option :4
3. RCUES

¥4 SERCU _ , .
K and L can do a work in 15 and 20 days respectively. They work together for 5 days and leave. ~ Questionggocaicsq

Calculate the unfinished portion of the work. ID:
Status :Answered

K dul L Ush FIH DI Hhel HAA: 15 T 20 TaT F @A & I6d g1 9 5@ o Chosen,

AT FH b ol o g1 FH & FYOT ET T 0T HIST] Option
7

<1 12
5
v 12
1

o

My 4
Question ID :9888374574
Status :Answered
Chosen Option :2



j e R EREF L B

Comp’ 4 i Marshal &Y

Ans  *2m=ni) Navy : : ? : Indian Air Force
A T A
ATERT Ajr Chief Marshal
o gy fim e
e e Sl LAy R
asﬁqmr Gime S5 F@ 0 7 AR arg e

X3 TAT AigE A
Flipht Lieutenant

X4 Ferse elfffesic

Q.10 A guestion and three statements labeled (T), (II) and (IIT) are given. You
have to decide which statement(s) is/are sufficient to answer the question.

Question: Can you make an overall assessment of the present level of

stock market index today?

Statements:

L Today, the stock market index has reached lower than the lowest

during the last 3 years.

II. Durning the last vear, the mdex fluctuated between 30,360 and

28.255.

II1. The stock market index touched a low of 27,125 in the preceding 3

vears.

Select the right option from the following.

AT v g 3R e wua (), () 3R ) Te oaw g
g ag vl o € 6 9ed &1 3cal & & w &l

arFa-T FUF 9T 2

WS FIT 319 371 A IR Fahih & TaA Tl &l

ST

. 3 9N SEIR ga&h Ao 3 aul & J9d &

T @ ot A aga I g

Il oo a¥ ¥ ghe, gaeie 71 30,360 3T 28,255 &

d4I T 3dR-derd Tl
M. fee 3 @al A WA IR Fasie o 27,125 &
feael FaT 1 @3

forafafaa # ¥ wd fawew g
All the three statements [, II and III are insufficient.
XK @A |, I wE I, el s §

Both statements I and III are sufficient.

W, ere | 3T I &t A g

) Both statements IT and III are sufficient.

&3 w1l 3R I gt gt 2

Both statements I and II are sufficient.
X4 Fua | 3T 1 g e g

Q11 Indian Railways network connects about stations.
HRA IeT wAcash oarsia TeUAT HF F=dT gl
Ans | 12,000
X5 14,000
W'y 8,000

Ans

Question 1D 9888374608
Status :Answered
Chosen Option :2

Question ID :9888374537
Status :Answered
Chosen Option :2



X 4 10,000

Q.12 f TEACHER is coded as 8412745, CHEATER will be coded as: Question ID9888374‘§83
af TEACHER & 8412745 & 9 & iz f&ar Fam % dr CHEATER &I &8 &9 Status ;Answcrcd
# Fiz fFar mean? Chosen,,
e ) Option :
Ans  #5 1. 2714845
Ko 2741485
K3 2748145
W4 2741845
Q.13 Select the number which is different from the other numbers given below: Question ID :9888374588

Status :Answered

157,571, 599, 387 Chosen Option :4

98 HEA g4 ST A &1 T 3w qenit ¥ e &

157, 571,599,387

Ans ?(-1' 571
X5 157
23, 599
v, 387
Q.14 8 boxes of a finit were purchased for Rs. 9.600. 5 boxes were sold at a profit of 10% and 3 boxes (‘)ucstion988837 4567
were sold at a loss of 10%_ What is the net gain in percentage? D:

Status :Answered

10% #1 g T 3 ST §1 g o wfRiT F a7 Oprion
Ans 1. 2.75%
vy 25%
23 2%
X4 225%
Q.15 Hubble’s Law is relatad to i Question 1D :9888374523
el & = ﬁ ST %LI Status :Answered

Chosen Option :3
Heat
X FeA
Sound
X e
Astronomy
o3 @anferhr
Air Pressure
X4 BaT & gad
Q.16 In April 2016, the National Green Tribunal suspended the environmental clearance given to the Question

proposed hydropower project in Arunachal Pradesh to save the . ID :N
Not

sifer 2016 & USSR R IOHT S g & T smvmae wde A SWUS Ly

_ ) Chos
wEadd od fega oRaeer & e & 8 gdierer #ql @1 dfaa s G (,)pt?;lfn:“
Great Hornbills
Ans X, AT gloAtael
Gayals
X, /A
Medicinal Plants
X3 sitwefir gy

Black-necked Cranes
o 4 IRl IEA arel AR
Q.17 GSAT-18 launched by India in October 2016, was essentially a satellite. Question ID :9888374532
! Status :Answered
FFeaR 2016 H 9IRA @l Yaifid ofide-18 Held: Uh 39918 &l resivaniini

Chosen Option :1
meteorological

Ans r 9 Alow Aam-daeh

Ans

9888374508



remote sensing
<. fAEe a9/

commuication
‘(3' earth observation
X, g SAdaroT

Q.18 The river 1sland Majuli which became “India s first and only island district” 1s located in : QUGS;II()DH.QSS&;? 4493

SAGT gda HL\,APT;‘ S “HId &1 9gel 3T UHATH gdT foten” &1 & & Status :Answered

Chosen
ora g1 Option :
Karnataka
X | wellcsh
Jammu and Kashmir
X, SE-HAER
Himachal Pradesh

X5 feaTge uder

Assam
W, 3aA
Q.19 clicking on mouse selects the entire parapraph by default, while working with text Question
document in MS Word. 1D :

W o af ¥ o StRpic § B B GHT AE B frord F T Status o

0
Attempted
7E Riee &7 § QR FT T FaT 2 (fphf;f“
Alt + Single ’
Ans - 7
< Alt+ T&arer
" Triple
v, feaa
~ Double
A3 gaa
Single
X4 e
Q.20 The Nobel Peace Prize 2016 was awarded to: Question 1D :9888374513
e oy T grafag fEar : Status :Answered
?Hﬁ 2 2016 T sﬁ I Chosen Option :4
David J. Thouless
x 3faz o ofew
l. Bob Dylan
Ko dfT e
Bernard L. Feringa
X3 gaE ue, BT
Juan Manuel Santos
o, ST Feparer derm
Q.21 Find the least number which should be added to 1456 so that it is divisible by 6, 5 and 4 without  Question

leaving a remainder. D :
Status :Answered

9% SI-A-OI8 T A fifse SrEer 1456 7 Siigd W Ag 6, 5 3R 4 & 9O7a  Chosen,

Ans

9888374529

Ans

9888374546

s a S %'I Option >
X1 6
Ans KZ 61
V3 44
X416
Q.22 Question ID :9888374589

Status :Answered
Chosen Option :1



Ans

0.23

Ans

Ans

Q.25
Ans

Q.26

Ans

Ans

Choost R'epti.le which 1s not similar to the others in the group given
helow: f
_i!ﬂ"d, _ = _dile, Reptile, Snake
Snak :
:ﬁ—‘fx o T OHg & ¥ 3@ 99 o off 3+ & GAE A1 &
5
ﬁ’ﬂﬂ?mm Aes, ad|d, an

X3 g

Crocodile
X4 IS
In a class of 135 students, the number of boys is twice that of girls. One-sixth of the boys and QULGUOH
one-third of the girls failed in the final examination. Find the percentage of students who passed

0888374550

5 Stdms .Answcrcd
the examination. \
Chosen,

135 ol &1 ws Faq H, o5H] I FoAl AsihAl HT d@ar 1 gEE g1 arf¥s 988 Option -
A 1/6 w5 dur 1/3 asfRal eqcdiol g 9 39 ol & yided Ag fIfee St

qlam # 3ccdiol gu gl
X1 75%
Ko 7145%
v¥3 7778 %
X4 8123%
If p and q are in the ratio 4 - 3 and their LCM 13 36, p + q =? Question ID :9888374545

Status :Answered

afe p dl g =T 3e4qTd 4:3 dorr o W. 36 &, ptgq=7? Chosen Option :2

X1 18

U'r‘)‘ 21

X3 24

A4 12
EIMQUY : CGKOSW : : BFINRV : ? Question ID :9888374579
.94 | CCKOSW 7Stu.tus :Answered
%> DHLPTX Chosen Option :4

2.
X3 AEIMQU
v, ZDHLPT

What is the cost price of a product, if the pain in selling it for Rs. 27,120 is 13%? Question ID :9888374568
Status :Answered

UF 3cUIG 1 HA Aed &1 §, AfG 59 27,120 T A 9 W 13% ey giar %’?U,Omopmn
Rs. 24,600

X1 %.24,600
Rs. 24,000

W5 %.24,000
Rs. 22,800

X3 %.22.800
Rs 25300

K4 £.25.300

The simple interest at 10% p.a. on a deposit for 2 years is Rs. 4,000 If the interest is compounded Question

on an annual basis, how much more will be the amount of interest? D
Status :Answered

UF AT [R 9 2 A A7 10% HT aIE FUROT AT G F FHeww arer s 4,000 Chosen,
S §| Al s i ATUR R e & FSE @ A e ey PO

fercrell afg gref?
Rs. 200

v ﬁg

9888374562

.&40

Xo T240 #FY
Rs. 220

X3 5220 $r
Rs. 190

X4 B.190 #T



Q.28 The difference between the selling prices of an item at a profit of 9% and 7% was Rs.190. Find Question9888374565

the cost price of the item.

Tk G B 9% M G el TUT 7% O 9 §°A ¥ fad #{ed 7 190 9 &1 Hedl  Chosen

AT R, 5 20pgP #F HAed A R
X %.9,200
Rs. 9,500

v, %.9,500
Rs. 8,700

X3 .8,700
Rs 9.000
X4 %.9,000
Q.29 Pointing to a photograph a lady said, “he is the son of my grandfather’s
only son”. How 1s the person in the photo related to the lady?

U GEIR BT R FAURT T U U Afgerm A Fel, “Tg A
TIETST & Sdheild d¢ &1 §T 871 afaR &1 eafFd 39 Afgen
T T o3l 27

Grandfather

Ans xl A |
Father

?(2. B
Son
Pl 3. der
Brother
', g
Q.30 Which of the following international football stars belongs to Brazil?
fF & @ sla-ar 9i8e 3aweda pedld st deile & §?
Neymar
Ans ‘(_1. AT
Gabriel Batistuta
X, e arfawgar
Marcos Rojo

25, wmpta =

Lionel Messt
X4 oo A

Q.31 Interchange two mathematical operators and balance the incorrect equation given below:

Ans

16-24%x2+10+104=0
gt AU GeReT &1 T 399 A el 3 A fRu av st g@efieor @t

ddieid &

16 -24 x 2 +10 + 104 = 0

= and =

Ans v + 3 =
+ and =

Ko + 3T =
—and +

K3 - 3R+
+and —

Ky + 3k -

ID :
Status :Answered

2
Option :

Question 1D :9888374590
Status :Answered
Chosen Option :4

Question ID 19888374502
Status :Answered
Choscen Option ;1

Question 1D :9888374587
Status :Answered
Chosen Option :1

Question ID :9888374609
Status :Answered
Chosen Option :1



Ans

A question and three statements labeled (I), (II) and (III) are given. You
have to decide which statement(s) is/are sufficient to answer the question.

Question: Find out the minimum number of nurses needed by the
hospital. www

examstocks
Statements:
L There are three shifts round the clock.
11 There are thirteen wards requiring two nurses per shift.
IIL. The town needs at least three nurses per thousand population.

Select the right option from the following.

A e g AR A wAa (1), (1) 3T () e 7w
19! A ota oer § 6 99 &1 3ol & & ol &la-
g/Rla-g et gaiea 22

WeST: JEUCIel A IHELAh A&l hl geiadH HEAT U]

Hl;

1.
X,

ggf gidg g¢ &1 d= aifert 2

a8l ot ars g, foad e ufa el ot gt
STERAHAT B

Both statements IT and I1I are sufficient g O gvay dier 787 $1

EFHHHW!II&H‘TWW—I%I

TN T I

Only statement [ 1s sufficient.

Xgfhaet Fuel | T 81 ¥

X5

v,

Both statements [ and III are sufficient.

Foet | 3T 1l &= gafea &

Both statements I and II are sufficient.

Foret | 3T 1l g= gt §

Q.33 Complete the analogy with the most suitable option:

Rice :

Carbohydrate :: Sprouts : ?

Haifee 3uged fawed I 9 $T dreed W &4

<Ieel : HIElEISE = A : ?
Water
Ans Kl oI .
Protein
) giEE
Heat
K} FEAT
Fat
?(4‘ g8T
Q.34 WWTF stands for:
Zecy Secg UN &I [T ATH o
Web World Federation
Ans 3T aE bR
" World Wildlife Federation
X, T35 dISesdsh hele
World Wildlife Fund
W3 ¢S dISesdRd WU
World Web Federation
Q.35

Question 1D :9888374576
Status :Answered
Choscn Option :2

Question 1D :9888374533
Status :Answered
Chosen Option :2

Question 1D 9888374535
Status :Answered



Ans - X

«

Ponzi’ erhama rafare to the scam.
coal alloeation —

XV Frrem smae— T FI G &
investment

W) fEder

~ fodder

X3, 9w

food gramn

X, _

Q.36 *Absolute zero® refers to

Ans

H T drT &I ZRIaT gl

minus 273 °C

v, q 273°C A
minus 295 °C

X, e " 295°C &H
" minus 300 °C

X UT H 300°C FA
minus 255 °C

X, YT § 255°C &A

Q.37 Which one of the following islands does NOT belong to Lakshadweep?

Ans

frafafaa # § sla-ar gdiv eedy § dafea ag 27

Minicoy

X, ﬁ?ﬁ?ﬁzr
Kavaratti

X5, Fated
Neil

V'3 el
Amini

Xy, 3reher

Q.38 Read the following statements and select the option which is NOT

Ans

Q.39 10 men and 5 women can do a work in 60 days. If one man can do the work of two women, how  Question

Ans

true based on the statements:

The cost of stx mangoes 15 equal to the cost of four apples. The cost of
eight apples 1s equal to the cost of two jackfruits.

HAFfeli@d ®u=l F1 9¢ I’ 9§ dFed ga &l FU=A1 &
TR 9T TET del o

wg IE HT oEg 9K B9 $ dEig & SE g1 A6 349
FT AT & Fegal $T dId F FqEL T

A mango is not as costly as an apple.

x, T HH 3daT Hedll o6l § Toidell Ueh dd|
" An apple 1s cheaper than a jackfruit.

X, TF U T FHegel H TEAT ¢l
Jackfruit is the costliest of all.

X3 Fegd s wf 7 e 7w g

An apple 1s not as costly as a mango.

W, TF U Ia4T AGIN AGT ¢ fordell U 3|

long will 5 men and 20 women take to complete half of the work?

Chosen Option :3

Question ID 9888374518
Status :Answered
Choscn Option :1

Question 1D :9888374494
Status :Answered
Chosen Option :1

Question 1D :9888374593
Status :Answered
Chosen Option :4

D :9888374535

Status :Answered

10 99 qom 5 ARG vF A A 60 A A U I §1 A 0 TEW Q& AREHT  Chosen,

T I FT FHal ¢, df 5 To¥ dur 20 ARG 3§ F1F F I 90T FI T e A

TohdaT OFT &ar?

(o}

Option :



v 25
3 36
?('4. 50
Q.40 In July 2016, a Russian priest set a new record of flying solo in an air balloon around the World, ~ Questiongggca-, g,
injustover  days. ID :

) . . Not
e 2016 F U ® UIGH o gaT & Iea F Ibel 38T HL Had et 3 S9N Arempted
Chosen

qfl i &1 Ty oy Teh AT S gemn) Option ;™
Ans &1 17
¥ 11
X3 15

Xu 1
Q.41 is NOT a common bitmap-based file type extension. Question 1D :9888374528
Status :Not Attempted

U A HeHAT-Aiid BIge Is9 TFacs dgl ol Chosen Option :--
Ans urll- ODT
&> TIFF
X3 PNG
'?('4. PCX

Q.42 Statements followed by some conclusions are given below. Question ID 9888374611
Status :Answered
Statements: Chosen Option :2

A All men are mechanics.
B. All mechanics are engineers.
Conclusions:

I Some mechanics are men

II.  Some engineers are mechanics.
Find which one of the given conclusions logically follows from the given
statement.

UF A IR Fo sy H fqr o @ 8
S

A. T FTsT HAbfae F
B. @sll #A%fas galifaaw &
s

l.  Fo AdfEs AT g
Il o gelifar Aas g

Fia-TT vFy BT T FUF FT dlfehes & & UTelel HLdl

Neither I nor IT follows

KyFarl a8l g FLar §
" Both I and IT follow

5 | 3T 1l gt grae e 8

B Only conclusion I follows

X3 ad sH | O ST §

Only conclusion I follows

X, Fact Trsey || areteT T §
Q.43 Question
ID:
Status :Answered
Chosen

Ans

0888374557



Ans

Q.44
Ans

Q.45

Ans

Q.46

Ans

Q.47

Ans

Q.48

15 persons can complete a work in 60 days. If the number of persons is increased by 5, how Option :3
many 20 dayslier will the work get completed?

X720 A F w0 1 60 AT & QU T Tha &1 T cafFaar 1 gear 5 3R ge

10 day
G (A R T f&oT ggel QT 8T SARA?
5 10 et

15 days
¥3 15 feA
45 days
Xy 4sfea
RMSK : SLUIL :: KMFZ : ? Question 1D :9888374580
~ 1. LIHB Status :Answered
' Choscn Option :2
¥ LLHX
/3, HKIB
<4 LHKX
The Rowlatt Act was passed in the year ; Question ID :9888374501

ﬁﬁt o T * MIRA LT ) Chosen S]E?l‘[(l)]; i?”swmd
K1 1921

X7 1017

¥'3 1919

&4 1915

K borrowed Rs. P at a compound interest of 20% p.a. for 2 years. Interest amount payable was Question

Rs. 5,280. What was the value of P? D
Status :Answered

K2 af & fav 20% &1 affe a9wdfd sarer o P F9A SR AT g1 ST &1 G Chosen,

0888374563

Tfér 5,280 T off| P & AW T o opton:
Rs. 12,000
W, ¥ 12,000
Rs. 11,000
X5 ¥ 11,000
Rs. 11,750
X3 & 11750
 Rs. 12,500
X4 T 12,500
The cost price of a set of 2 pants + 4 shirts or 1 pant + 6 shirts is Rs. 5,600. A shopkeeper decided Questionggoga-,5cc
to sell them separately. He sold 10 shirts for Rs. 6,000. Find the amount of profit or loss per shirt. Smllz fAns‘wchd
29C+42€C F TH UT A 19C + 6 AC & Th e & HF Aed 5600 T g1 & ttﬂoséﬁ4 ‘
GHIFIGR 3o eld1-3TedT dae &1 9 #ar g1 394 10 ¢ 6,000 T4 & i option
gfg e¢ @y o g fr ufer ama i)
Profit Rs. 1000
-x.l. ¢T3, %.1000
Loss Rs. 1000
X5 BIie, £.1000
~ Profit Rs. 100
/<5 @A, £.100
Loss Rs_ 100
W', @1l %.100
Q““ﬂ‘;“9888374559
Status ;Answcrcd
Chosen

Option :



Train 7‘40'}{].'[1&1 A at 10 am and rung at a constant speed of 60 kmph on a straight track and
Ans "";he s __adistance of 360 km. Train Q starts from B at 11 am and runs towards A ata
cohs]m%'oﬂﬁﬁh = ~rggges train P at a distance of 120 km from B. What is the speed of train Q?

K fatieer & TTA: 10 St Tofct § 3R 60 frefyHe fr whEAE fd @
#er (S0kmph Rl gl @@ FXh g B R g g1 JoEms Q g 11 @9t g
L3 QI et ¥ 3 v A A Fig A HY T I #1 Yoo P
“x-fﬁoﬁﬂ;mﬁ120ﬁvmﬁqﬁwwmﬁlmaaﬁ‘rmwm

Q.49 The minimum age limit prescribed for appointment as Governor of a State in India 13 Question
years. 1D :
Status :Answered

AT H R T & Togae & w9 7 gEa & v WuiRa sgEam g @A Chosen,
Option :
-
Ans & 1. 40
2. 30
X3 25
vy 35
Comprehension:
Yogesh 1s taller than Alpesh but shorter than Dharmesh. Suresh is shorter

than Rajesh. Harish is not as tall as Alpesh. Ramesh is taller than
Dharmesh but shorter than Suresh.

AT 3ede # oar fheq w#fy @ oler §1 gl e 4

wieT &1 gier 3ever fSgar oer J87 g1 e gl ¥ &«
e Lo & oier g

SubQuestion No : 50
Q.50 Who 1s the shortest of all? Question ID :9888374595

T ) = Status :Answered
o el ﬁ %{; Chosen Option :1
Harish
Ans J]. EﬁQT
Ramesh
2o Y
Alpesh
23, 3reder
Yogesh
K4 drarer
Comprehension:
Yogesh 1s taller than Alpesh but shorter than Dharmesh. Suresh is shorter

than Rajesh. Harish 1s not as tall as Alpesh Ramesh 15 taller than
Dharmesh but shorter than Suresh.

AErer ey ¥ oA fheq el ¥ ol {1 gy Iy ¥

oler g1 girer e fSaar oer a8 g1 @ a3 & o
e Lo & oier g

SubQuestion No : 51
Q.51 Height-wise, who 1s in the middle? Question ID 9888374596

i + : Status :Answered
3 ”é ® 3 TN A E‘P) Chosen Option :1
Dharmesh
Ans o, erter

" Suresh
X, g
a Yogesh
X3 Trarer
Ramesh
'?('4. T

9888374510

o
[
o

Question 1D :9888374599



Ans

Ans

Ans

Ans

Q.56

Ans

Rearrange the jumbled letters to make a meamingful English word and Status :Not Attempted

then select the word which is different from the rest. Chosen Option :--
oot 3regaffud el & Yacdafeed @i Us e
FAell ereg ST 3 Y 304 @ d§ Usq Il ol AW A
2a EYCOL
2 LCIYHL
¥'3 HLTCO
& 4. MIUNC
53 If & means ‘+°, $ means ‘-7 # means ‘+ and % means ‘>°_ then the value of Qms:ir(;n_9888374585
90p3 & 22852 &85417. Status :Answered
afe; & &1 3 ¢ R $ FHS U # T H F A % o w0 A faw | Shoseny
Dption :
FT AT FT &
9% 3&22%52&85#17.
18
v, 2
X3 3
X4 5
Which of the following sites was added to the list of UNESCO’s World heritage sites in July Questiongeeest4s16
2016? 1D =
= i@ f " F g & f X % Status :Answered
e ool é’ 2016 ~ LER R T | Choscn2
anfarer frar arn? Option
Khangchendzonga National Park, Sikkim
| FTSTET TG 3T, R
Mahabodhi Temple Complex at Bodh Gaya
X, FgEY #Afey IRER, SreErEn
Kaziranga Wildlife Sanctuary
X3 FENET geaeid ARy
Keibul Lamjao National Park, Manipur
X, IS AHSIAT ASERT 3GAA, AT
5 *Leader of the House’ in the context of Lok Sabha refers to . Question D :9888374512
: Status :Answered
FARET & Heal A Fael & «Adr &1 370 a - Chosen Optli(l)lr: 2 e
Any designated member of the ruling party or coalition

X, HcdT®e Gl AT Aot H Pig off MfAT FoEd
v,

Either the Prime minister or a Minister who is nominated by the Prime Minister

TENAHAT AT TAAAAT GaRT AlAT HAT

Leader of the Opposition
X, fager & aar
" The President of India
?(4 ARd & liﬁaqia
‘Tropism’ mostly refers to the: Question ID :9888374526
: - P ] Status :Not Attempted
3 SiferpIerE: gRifar é' Chosen Option :--

Directional growth of a plant

v, fopdlt dter &1 Teencas faera

" Longevity of animal species
2, 91 Felricral & &
Bird migration



Q.57

Ans

Q.58

Ans

e
tn
O

Ans

Q.60

Ans

Q.61

Ans

Behavioural pattern of humans

X4 AEE SgdgR & ded
Arrange the numbers in descending order: Question ID :9888374543
2N11, 443, 35, 542 Status :Answered

. Chosen Option :1
HEAHT I HAET A H egafeud Hifai:

2411, 443, 345, 542
W' 542,443,345, 2411
X5 345,443, 542, 2411
X3 2411, 443, 345, 542
K4 443,345, 2411, 542
A person pays Rs. 8960 per month towards loan repayment which is 28 % of his monthly salary.  Question

Calculate his monthly salary. St’ltllg 3Answcrcd

o cafed #oT IqrEl & fow afd AW 8960 T ¢ar €, Sif 38 AMAF dds FT Chosen,
28% ¥l 3% AfGF dae & Jorr i Option :

Rs. 32,000

v % 32,000
Rs. 34.000

&5 T 34,000
Rs. 28000
X3 ¥ 28,000
Rs. 30,000
X4 % 30,000
Sam 1s the husband of Rosy. Geni 1s the mother of Rita and Rosy. Vaz 1s Question ID :9888374592
the father of Rita. What is the relation of Vaz to Sam? Status :Answered

e Ol F1 afg &) ol far st ool B AT ) ara far Chosen Option :2

&1 ar &1 arad &8 &1 F41 o9 ar 27
Brother

TS

" Father-in-law
v, I
Father
X3 foar
Son
&4 <er

On July 23, 2012, Shri Pranab Mukherjee assumed office as the th President of India. (‘)ucstionggxm745 1
1D : N

25 e 2012 F1 2 YUlg AWM of ARG F _ J TegUfd & 9 A GGHN T8 Sauus - Answered
Chosen

ﬁ;{alf ?'1” Option :4

K212

¥s3 13

0888374552

thé‘.hlgf the following activity is NOT allowed for Payment banks in India? Question ID :9888374534
o 7 ey = Status :Answered
AR & HATdTe del F 7Y 1 3 el %? Chosen Option :3
Accepting deposit
x, T T TR FLAT

Offering remittance facility
X, oo UNOT Fiaent Fered H
Distributing simple insurance products

<3 FRoT AT 3eaeT 1 faawer Fer

Lending money

o, 883U



Q.62 The total amount of interest received on two deposits of Rs. 5,000 for 4 years and Rs. 4,000 for 5 Question,

9888374561
years, made at the same simple rate of interest per annum was Rs. 2, 400. Find the rate of interest ID:
Status :Answered
perEanaL Chosen

4 a§ ¥ T 5000 TR g7 5 9 ¥ FAT 4000 1 FAT TR O FIEROT st & Option
U FAHE Al &l gl 9 Fe 2,400 T4 &1 sarer Al ged gidl §1 affe sars

1 gL A Hifsre
Ans K1 4%
X2 7%
V'3 6%
< 4, 8%
Q.63 According to experts, raging forest fires that took place in Uttarakhand recently have caused the  Question

formation of ) ID:
Status :Answered

faewail & AN, g & H Ical@s & Sierell A Rl YEUS ET & HROT  Chosen

9888374505

)
Option :~
&1 faTor g3m & ’
Phosphorous
Ans -
X FERRE
Black Carbon
V) sot e
Carbon Nanotubes
X, FEA AAICd
Sulphur
A4 e
Q.64 A pre-independence era bunker was discovered in August 2016 at the Raj Bhavan in . Question »
D 9888374489
JaEd 2016 #H & {SHde # FEdAdl 9t ¥ 9gel & Uh gl Status VOt
©TAttempted
T 4914 | Chosen
Gujarat Option :
Ans .-
A IR
Arunachal Pradesh
X, BT UG
Maharashtra
W3 HERISG
Tamil Nadu
'?('4. Hfﬁﬂ?lﬁa
Q.65 The escape velocity on the Earth's surface is about N Question 1D :9888374521
Status :Answered
t,[ﬁ T Tdg W I a1 TS %l Chosen Option :2
13.8 km/sec
Ans 'x'l 13.8 fha/EHs
"11.2 km/sec
v 11.2 fFiEEs
21 3 km/sec
X3 21.3 frevdss
4 3 km/sec
X4 4.3 freESs
Q.66 Indra Nooyi, an Indian origin leader, is associated with : Question ID :9888374515
: s Status :Answered
IRGI _HA &1 TF 370l HEIEEII E e E!xé— _ ¥ gefg %:I Chosen Option :2
IBM
AnS o e o oy
L. PepsiCo

W goTer



Q.67

Ans

Q.68

Ans

Q.69

Ans

Q.70

Ans

Q.71

Ans

CocaCola
3. BT Hrar
Microsoft
X 4 FISHIETC
Which of the following Indian States does NOT share an international border?
e A ¥ g ard Tsg f1 A SFarser AAEET FF w9 A8 Far?
West Bengal
X 9REHE S
" Haryana
W, gl

" Himachal Pradesh
?(; fgATEe 9ger
Punjab
X4 daE
IfEAR =24 and EYE = 35, then LEG =?
afe EAR = 24 vd EYE = 35 §, @ LEG = ?
v 24
X5 25
X3 22
X4 23
Which of the following 1s NOT a characteristic of the *wave’?
e 7 O & gler fr Overar 787 82
Wavelength
© Amplitude
20, smar
Frequency
K3, I
Medium
vy ATEIH

X,

If fire is called ice, ice is called sky, sky is called fire and water is called rain, then where do birds Question

fly?

Question ID :9888374496
Status :Answered
Chosen Option :2

Question ID 19888374582
Status :Answered
Chosen Option :1

Question 1D 9888374524
Status :Answered
Chosen Option :3

D :9888374584

Status :Answered

fe; 3T Y %, T FI THIL, FTHILT ST F7T 3T I=T S SR Fgr AaT g, O Chosen,

Option :~

Find the increase in circumference of a circle of radius 14 cm, if the radius is increased by 7 cm. Qucstionggggw 4570

@=")

ID :
Status :Answered

14 e Tiear ot U ged &1 9R F gy w9 fiew, afg Bear & 7 @ @ Chosen

gfg &1 st &1 (1=2)
44 cm

44 @AY

- 22 em

KXo 2@
66 cm

X3 66 THT

10

Option :



88 cm

&4 88 @AY
2 2 _ ; i 7 i : 4547
Q.72 The value of which one of the following fractions falls in between Sandlo Quesngm ID : 9888374542
5 8 Status :Answered
: “hosen Option :2
frfofaa & & Flear fes 2aurls @ o gear &2 Chosen Option
. owge 2
Ans )(1. 3
v 7
-~ 12
Pal 3. 13
e ¥
K47
Q.73 Antimatter particles corresponding to electrons are called ; Question 1D :9888374519
w Status :Answered
ERED % 'HHE!.VQ Elﬁlﬁcﬂ a;l:lﬁ EF’.I gl Sl %—I Chosen Option :4
Neutrons
Ans .- L%
?(1 e cld
© protons
2, dieta
Antielectron
x N .
Positrons
W, T SACTe]
Q.74 Dvaluate: SM30 , sinds Question 1D 9888374571
casd5 cos30 StiltllS :AHS\-VCI'C({
Hegiga fifSy. Snd0  sinds Chosen Option :3
o T cos45 cos30
V2
Ans =
Ky v3
2
Xy V3
T
V3 V3
i
Q.75 Which of the following 1s NOT true with reference to a real number? Question ID :9888374540
. . Status :Answered
fota=1 cliai ﬁ ¥ HloT-HT HUA U AEdfan HEAT & Hel A HEl el %? Chosen Option :4
All rrational numbers are real numbers
Ans

X Tt 3afE g anafas dEa gl
4™ sl number need not necessarily be a point on the number line

U ardias T & AT e W@ | o A [ g Srarasd w10 gl

A Real number is unique

U aRdias HEAT IEadE 2 g

3 All rational numbers are real numbers

X4 Taft IAT dead aeafds 6T Bl

Q.76 If (2a/m + b/m) = 2 and (a/m — b/n) = 4, find the values of ‘a’ and ‘b’ respectively. Question ID :9888374569

Status :Answered
Al (2a/m + bin)= 2 QAT (@fm—b/n) =4 &, AT FAW: ‘@ T b F AW A FISAT | pogen Option,

Ans ‘(1. 2m, -2n
'?('1 2n. 2m
'?(3‘ 2m. In
Q.77 I‘?(yp—-’?in; 2nthree-fifth of a number is 42_ find one-third of that number.

afe; vk AT F 3/5 1 o fAETS 42 B, A 30 wwAr 1 U fderd Aa Hiferwy Question ID 0888374549
Status :Answered
Chosen Option 4
47



Ans ?(1 40

X3, 45
v, 35
Q.78 The principle of gyroscope is NOT used ina . Question 1D :9888374522
: Status :Not Attempted
AMEFHT & Bgid FT 9= # A5 forar S P

Chosen Option :--
Computer mouse

W R R
Smart Phone
x-g. THIC BT
Inkjet printers
'3, geic fiex
Racing car
K4 W T
Q.79 Find the mode of the following data: Question 1D :9888374573

Status :Answered
100,120, 110,90, 120, 140, 130,120,110, 100, 90, 140, 120, 100 Choscn Option :2

feAfafaa siest &1 ggeis Ad ST

100, 120, 110, 90, 120, 140, 130, 120,110, 100, 90, 140, 120, 100
Ans #1100
¥ 120
X3 90
X4 140
Q.80 Find the discount in percentage, if a book whose marked price is Rs 90 is sold for Rs.76. Question ID
ge (Fidera A) A fIfee, Afg 90 & Jifed Hed &1 U FhdE 76 & A @€ AT Spa00s - Answered

%! Chosen,
g Option :~

Ans

9888374551

Ans K| 14.65%
¥ 1556 %
K3 1345%

K4 1475 %
Comprehension:

41 Q



Study the following table and answer the questions given below.

The table contains the fotal number of students hired by IT companies [
IT, T11 and the respective percentages of such hiring from colleges P, Q. R

and S.
IT Company | No. of P Q R 8
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
111 1500 32 20 25 23

fAafaf@g afeer &1 3egga &1 3 @9 fr v gear
T 3cad &l

difelert # 3 ol & Fd dear i § S 3sd
Huferar 1, 1, 1l arr & 3:m g, & 1 &lela P, Q, R
T S § T v sEt # uiawd st T mar g

S e aw P Q R S

eh E ) | %) |
HqHEAT

| 1800 24 32 28 16

1] 2400 27 30 23 18

11| 1500 32 20 25 23

SubQuestion No : 81
Q.81 What is the total number of students hired by Company II from Colleges
P.R and 57

Al Il GaRT &ietst P, R dar S & folv aw ol &1 $e
Ans K.I' 752

'?‘1_3‘ 1800

K3 1968

¥4 1680
Comprehension:

Question
1D :
Status :Answered
Chosen
Option :~

9888374606



Study the following table and answer the questions given below.

The table contains the fotal number of students hired by IT companies [
IT, T11 and the respective percentages of such hiring from colleges P, Q. R

and S.
IT Company | No. of P Q R 8
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
111 1500 32 20 25 23

fAafaf@g afeer &1 3egga &1 3 @9 fr v gear
T 3cad &l

arfcrer & 39 oEt f Fo dEm afde § O 3

Huferar 1, 1, 1l arr & 3:m g, & 1 &lela P, Q, R
T S § T v sEt # uiawd st T mar g

S e aw P Q R S
. arsr $ir
HYAT ) (%) | (%) |(%) (%)
&G
| 1800 24 32 28 16
|| 2400 27 30 25 18
1 1500 32 20 25 23
SubQuestion No : 82
Q.82 Find the difference between the number of students hired by Companies II Quesliongqqmuﬁm
and IIT from College R_ q ID:7°% [
: - v : Status :Answere
Sl Il wd Il gary siael R & fore 71w ol 61 deanst ppaniduniiins
&I 3T &1 g7 Option :
Ans Kl 200
K. 220
X3, 210
v, 225

Comprehension:



Study the following table and answer the questions given below.

The table contains the fotal number of students hired by IT companies [,
IT, T11 and the respective percentages of such hiring from colleges P, Q. R

and S.
IT Company | No. of P Q R 8
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
111 1500 32 20 25 23

Heatefag aifoeer &1 3eaas &+ 3T &5 Gr v geat
FT 3cal ¢

arfereer & 39 oE f For wEa affe §OeE wEd
Hufaar 1, 1, 1l eary forr am@m g, | & &ielel P, Q, R
qar S & foiw 7w oEn & gfdra o Gar gl

HES e e P Q R S
. aTE #Y
&t ) (%) | (%) |(%) |(%)
HEAT
| 1800 24 32 28 16
|| 2400 27 30 25 18
11} 1500 32 20 29 23
SubQuestion No : 83
Q.83 How many more students did all the three companies together hire from (‘)ueslif\)n(ﬂgg}74604
College P in comparison with College 57 D77
w o . Status :Answered
Flctst S T ol A Hidel P A diAl AT F Fe Frce Chosen,
e o i 32 lpHen.
Ans W 495
X, 510
#3480
Ky, 535

Comprehension:
21



Study the following table and answer the questions given below.

The table contains the fotal number of students hired by IT companies [
IT, T11 and the respective percentages of such hiring from colleges P, Q. R

and S.
IT Company | No. of P Q R 8
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
111 1500 32 20 25 23

fAafaf@g afeer &1 3egga &1 3 @9 fr v gear
T 3cad &l

difelert # 3 ol & Fd dear i § S 3sd
Huferar 1, 1, 1l arr & 3:m g, & 1 &lela P, Q, R
T S § T v sEt # uiawd st T mar g

S e aw P Q R S

eh E ) | %) |
HqHEAT

| 1800 24 32 28 16

I 2400 27 30 23 18

11 1500 32 20 25 23

SubQuestion No : 84
Q.84 What 1s the difference between the number of students hired by Company
IIT from College P and that hired by Company [ from College 7

F9aT Il garT it P & 9T 10 3R F9=1 | g@rr Fieis
Q @ fAv arw oEr 1 dears’ $1 AT w74 g?
Ans )‘Q]. 118
v 9%
X3 132
X4 124
Q.85 The famous Brihadeeswara Temple is located in

wiEg gednat Al 7 o g
Telangana
Ans .
. delaTT
Tamil Nadu
Wy dfére <3
Kerala
X3 T
Karnataka
~ 4. FeAledh
Q.86 lake is one of the largest fresh water lakes in Asia

sirer ufRrar 1 a8 991 aret 9l $1 e 7 ¥ o g
Vembanad

Ans x. EP=ri

Question

1D :

Status :Answered
Chosen
Option :

9888374605

Question ID 9888374517
Status :Answered
Choscn Option :2

Question ID :9888374495
Status :Answered
Chosen Option :4



Sambhar
o TR

Chilika
<3, Wular |
v, CIGE

Q.87 A Statement followed by some conclusions is given below.

Statement: Adversity is the best teacher.

Conclusions:

I Poor people are learned.
II. Adversity provides opportunities to learn.

Find which of the given conclusions logically follows from the given
statement.

U FUd iR 3HE Fo g e fgr o @ )
wy: giasd TR aed wor [Ras g
forsat:

I fade =afea RifEa gia 8

. widerer aRfFafa drae & a8y yae #d g
Fia-ar ey arfhee ¥ & 8T 70 FUa HT 910 HLdT gl

Only conclusion IT follows

Ans -, hact fase 1| dreE Har

" Neither I nor IT follows
X, sar! &Il e S g

Only conclusion I follows

Xy Facr TIswy | drert Har §
Both I and IT follow

X4 1 3R S e A §

Comprehension:
Ina group of 85 persons, 45 read novels and 37 read poems and 8 do not
read either novels or poems.

85 =afFadl & UH WAg A 45 @91 39 ded g, 37
HIaard Yed §, dUT 8 7 df 3U=arE 3 7 & Siean 9ed
gl

SubQuestion No : 88

Q.88 Find the number of persons who read either novels or poems.

Q.89

3o @ fT dwar Fand S A df 3YearE A1 Hfadrd god

v
2.8
K3 45
K4 53
Comprehension:
Ina group of 85 persons, 45 read novels and 37 read poems and 8 do not
read either novels or poems.

85 =afFadl & UH WAg A 45 @91 39 ded g, 37
HIaard Yed §, dUT 8 7 df 3U=arE 3 7 & Siean 9ed
gl

SubQuestion No : 89

Question 1D :9888374597
Status :Answered
Chosen Option :1

Question

ID :

Status :Answered
_Chc_)scn,)
Option :~

0858374601

Question

4607
D :98883746&



Find the number of persons who read both novels and poems. Status :Answered

Ans

Q.90

Ans

Q.91

Ans

Q.92

Ans

Q.93

Ans

Q.94

; o wr e Chos
X @l &1 FEar 9ard S 39eard AR Hfaard et ged (,)pt?;ﬁn:4
Ko7
3.8
Vs
111 Russian, 407 Chinese and 259 Japanese tourists have assembled at a place. Identical batches ~ Questiongeacss,0,4
containing the same number of persons from each nationality has to be formed without leaving 1D

: : Status :Answered

out anybody. Find the total number of persons in each batch. Chosen

111 &1, 407 dlr Jar 259 Sl AR UF SO W THH gU B Afe R s Option :*
afFg F1 @2 39 0 I9%9 ¢ 941 ad & fF 87 g # us Uegar & afEaAr

1 dEd g @, d 9% o A safFadt $F $o gean Aa qife
<1 18
v 2
<310
K4 14
assumed charge as the Governor of the Reserve Bank of India in September 2016. Question()88 8374514
- ID:" "~
o fdeX 2016 # ARAT Nod &6 & @ & T 7 FAAT TET g0 - Answered
Chosen
e Option :

Dr. A Panagariva
X, 31 T e
" Dr. Rakesh Mohan
K5 BT Ther Hige
Dr. Raghuram Rajan
X5, 5T T i
Dr. Urjit R. Patel

v, =1 39 3| 9w

The amount of simple interest on a deposit of Rs. 8,500 for 3 years is Rs. 2.040_ Find the rate of  Question o 04,
D 9888374564

Status :Answered

ST &Y T 8,500 T i e T 3 a9 F wremer sare 2,040 T 1 sArer &Y Chosen,

afi &7 T BT Option :
V8%
X5 85%
X3 9%
X4 75%

The peripheral devices of a basic computer system does NOT include the: Question 1D :9888374527
Status :Answered

Uch iﬁ’ﬂ’!ﬁ el e &1 ARSI fSarsdl A gg aidAe a1 gian: Chosen Option :4
Printer
- fuex
L. Keyboard
<o FraE
Monitor
A3 AR
CPU
o, 3

interest per annum.

Question 1D 9888374598
Status :Answered
Chosen Option :3



Statements:

I.  All the dogs are black.

II.  All the cats are white.
Study the above statements and select the appropriate answer option based
on them.

FYUA: All the animals are either black or white.
2 gt e ar ar &l ar It Bl

1 LU I R T Tt iy EP R I |

No animal is brown.

X, FIZ AR g AET g

mSmne animals are black and some are white. T 9T 3c|"’_3|DT‘F:f
W, 6 SR F T FE ahg g

EIRTES

Ans

aun

No amimal 1s black and white.
X4 FE AT Frem AR ahg T B

Q.95 Who was the Speaker of the first Lok Sabha?
GUH Sl EHT IeAET il A7

M. N.Kaul

ANS | THE. T #ie
G. V. Mavalankar

v, oY, dr. At
M. A Avyyangar
X3 UH. U ARER
Sardar Hukam Singh
Q.96 Which of the following group of rulers was NOT called “Sultans®?
W A & g 9 & el 1 Gedlel' dg] Hel oArdl a77?
Lodis
Ans x] AT
Khiljis
7. Taresh
Mughals
'3 e
Tughlags
K, g
Q.97 Which of the following species is also called the ‘Kashmir Deer’?
T & § g gorta & ‘Sl fgeor ot g1 oar 87
Hangul
Ans T
ns Jl. _E"'Iglﬂ'
Barasingha
&, rfder
Sangai
X, @ :
Cheetal
<4 Fae
Q.98

Lo Y ~

Question 1D 9888374509
Status :Answered
Chosen Option :2

Question 1D ;9888374499
Status :Answered
Choscn Option :3

Question ID :9888374507
Status :Answered
Choscn Option :1

Question 1D 9888374610
Status :Answered
Chosen Option :4



Statempant - . ; .
ose who cannot appreciate music become mathematicians.

Ans STRVEEST et @ Gofta 1 @HST At gid, 3 Afiaa I o

T

Majority of the mathematicians are not good musicians.

X g ATAFRT TN FeD WATA 6 & &1 7 a1t @

e owa e -

No musician can become a mathematician.

X s oft daliasr weh AT adl 9o Fehell B
Music and mathematics do not go together. 2
B0 PO adaaTa awEr £7

L

V', gaira 3T A0 ue |rer ST werd|

Q.99 Which team won the Copa America 2016 Football Championship?

Flea-d &H Beare afaAfarar #ar 3RS 2016 & Hisad 1 fastar ©@re

Arpentina
& 1. IctéEr
USA
X, TIFd TsT AR

e}

Ans

Colombia
&3, FrafEaar
Chile
v 4, Tl
Q.100 “‘RailTel Corporation’ is a

e FRONLE TF gl

Private Sector Enterprise
Ans . Taeir
X, EElLaH
Public Sector Undertaking
v el & # 3URA
Partnership Firm

X3 W T egaH
Joint Sector Enterprise

X, GIF &1 36

Q.101 A 15 (Q7s sister. C 15 Q°s Mother P 15 C's father E i1s P’s mother. How 15 Q
related to P?
AQ#rsga gl C Q& AT G P C & Mbar g1 E P & Af
g1 9ard &5 Q P F/fr w7 82

Daughter

Ans '?('1 Eral

" Cannot be determined
v, Taifta gt fam s asar §
Grandson
Granddaughter
PR T
Q.102 Identify the professional Indian shooter from the following options.
T fAedl & & U9iay 9Rd Heeers &1 9gard|
Sudha Singh
Ans ﬁﬂT ﬁfﬁ
I Shivani Katariya
& fRrarEr Fefar
Anjali Bhagwat
V'3 3ielier ST

Lo T 23

Question 1D :9888374503
Status :Answered
Chosen Option :1

Question ID 9888374536
Status :Not Attempted
Chosen Option :--

Question 1D :9888374591
Status :Answered
Chosen Option :2

Question 1D :9888374504
Status :Not Attempted
Chosen Option :--



Lalita Babar

X4 afear TR
Q.103 Which of the following 1s the most appropriate description of INS Arihant? Question D :9888374490
: ; Status :Answered
3'“_%— Ul U 3_ Ned foer & & Far %‘? Chosen Option :1
Submarine
Ans g, TEE

" Indian Navy base
Frigate
?(3‘ gﬂg_q‘[ﬂ
Aireraft Carrier

X, fama-aEs 9a9

Q.104 The sum of two positive integers is 42 and their difference is 4. Find their product. Question ID :9888374541
: Status :Answered
Tl Ul qOThl &1 AETHel 42 TAT I 4 §1 3o Uhel ATd HIev| Chosen Option -2
X1 402
Ans
¥ 437
3. 416
<4 376
Q.105 The length of a rectangular board is 4 times that of its breadth. If the area of the board is 256 sq ~ Questiongegasiccy
meters, find 1ts length. ID:

Status :Answered

e i aﬁﬁm@ﬁﬂgﬁﬁ4?ﬁﬁlﬂﬁaﬁﬂmz56ﬁ Chosen,,
Hier §, d 3gdr s Arg fifEe) Option :

8m

Ans o SHI
x1.16m

Xg. 16 #Hr
24 m

X3 247
32m

W, 32
Q.106 Total solar eclipse occurs when . Question ID :9888374520
Status :Answered
TJ? W a9 gid %- A Choscn Option :3
the Moon is farthest from Earth
Ans _’:‘i E&a @ E ?{'ﬂ— LR B’r
1. the Moon enters the Earth's shadow
X, daAT grdl 1 orET H g H
the Sun, Moon and Earth are in a direct line
o G, TgaE i gedl vk dreft W A g
the Sun, Moon and Earth are not exactly lined up
X, GE, dgAr T et v @l T@r & ar
Q.107 High tide : Sea :: ? : River Question ID :9888374575

Status :Answered
FAR-TTET - g -7 9cl
- TRk T Chosen Option :4
Dam

e

o H|Er
/1. Hydroelectricity
2. gafaeren
Bank
Undercurrent

o 4 3iaTdaTg

Ans

Q.108

Question ID 9888374497

Status :Answered
Lo Yo 4



Which Tﬂ'fj;"u Idi'l‘l'lfglwing piece of literature was NOT written in Sanskrit? Chosen Option :1

Q.109 Select the correct combination of mathematical signs from the options given to replace # signs Question ID

Q.110 Speed of a boat in still water is 12 kmph and that of the current is 3 kmph. A man rows a boat Question

Ans

Ratnavali
X, Teeraen

Rajatarangini
X3, grerai o

Meghdoot

X, Hegd

9888374586

in order to get a balanced equation : :
Status :Answered

1489#3#19#6 C]lpSCll
ﬁ)@mﬁﬁ?ﬁﬁmﬁlﬁﬁﬂﬂﬁmw#ﬁﬁﬁmﬁw Option :

dqfera wHfieur ged Farg:

14 #9#3 #1946
K +=+-
Ko +x =+
F S
"(4:><——i—

9888374560
upstream up to 135 km and returns downstream to the starting point. Find the total time taken for ID:

L : Status :Answered
the entire journey in hours. ‘
b Chosen

U | ST TR A9 7 g 12 R g dr g/ fr g 3 e §1 Option ;!
=afed @19 @ arr &1 giceher Gam 7 135 T ooF Sy 9y &7 3feehel fo=m dord
gizﬁ';nﬁﬁﬁ' g 9 arqw e H@r 81 U AT F G KA A oI §ET g A
EIGRCDIE LY

v 24

5 48

X3 36

&4 30

Q.111 Human hypothalamus gland ; Question 1D :9888374525

Ans

- Status :Answered
I EHERIE LRy aifer R — 5[“ %I Chosen Option :3

lies just below the stomach

36T & B A

I lies in the lower part of neck

X, T & Frae e @

1s present in the brain

V'3 ATEdSH # 39Red
is attached to the wind pipe

X, @ el A 8

Q.112 Find the value of *?” in the following series. Question ID :9888374578

Status :Answered
6:30:27:7 Chosen Option :4

rafafad s@er # 2 &1 A gel

Question ID 9888374553
L9 o]



Find the area of a triangle whose sides are 5 cm, 12 cm and 13 em. Status :Answered

w : Chosen Option :3
E_ﬁﬂtﬁ 5. M g A1 fIfeiT SrgdT 3o Eiﬁ?ﬁJ 12 T ger 13 ?I hosen Option
A asa IA
42 sq. cm

& 42 a#
30 sq.cm

W3 309 oY
38 sq.cm
?(.4_ 38 9af @?ﬁ
Q.114 Indian Space Research Organization was formed in . Question ID :9888374531
CEGIR R RITG 315,:,'“ OIe HIrGA AT FATAT H; # _ﬂé AT Chosen 081;?11(1)11? ;f]%ﬂﬁWCde
ans ¥1.1969
X5 1962
X3 1971
X4, 1975
Q.115 The speed of car M is twice that of car W. If car M covers 120 km in 2 hrs & 30 mins, what is the Question

speed of car W7 1L
Status :Answered

FIM FT Gl FR W H T F GREN g1 A FR M 2 b9 IR 30 e H 120 Chosen,
forelt 1 g0t T FCT 8, d SR W T =TT FaAT §7 option:
36 kmph

X1 36 frs/eer
48 kmph

X5 48 fral/der
24 kmph

V'3 24 frsider
42 kmph

X4 42 Tesfi/ger
Q.116 *RailWire® is related to: Question 1D :9888374538
sm : Status :Answered
%' Chosen Option :3
Brand name of a cable
AnS Teh hadl & di5 A
L. Fencing of railway stations

X5 Yed TerE S EmEET

Railway electrification

X, Yord faegdeor
Railway broadband service

W 4 I9d gisds dar

Q.117 In which of the following countries did United Kingdom’s rule formally end in the year 19867 Questiongeeeaar197
D7

Tt 7 O fpd gar # a9 1986 # EI“FHE_L‘E' fSharsa T e JTEARE FT F FACT 51006 - Answered
§31T‘? Chosen,

Option ~

Ans

9888374558

Ans

Australia

Ans 3EIEii§! T
¥'|. Sri Lanka
Ko HireierT
Maldives
~ Canada
?(4' chedlsT
Q.118 Question 1D :9888374577

Status :Answered
Chosen Option :1



What will be the next number in the series?

Ans NP5 62 123,214, 2
ns W 341 _
K ST 3Tl HET Far g
o
SLO3s3Y 123, 214, 2
~A2 202

Q.119 Fiaid s vabimat o 26 24 k- 14 Question 1D 9888374547
2y TOegREET 4y Status :Answered

26 24 Choscn Option :3

21:—::k:%ﬁkqﬂmﬂﬁlﬁﬁﬁ]ﬁ'ﬁrl

Ans ?(1_
<2

&
B b | e

v,
<43
Q.120 Which one of the following is NOT a correct description of median? Question ID :9888374572

Status :Not Attempted
Rf@d # ¥ Sia-ar v JfCaST F1 el Gator a87 22 P

; Chosen Option :--
It is not affected by extreme values.

Ans X, T8 9 A= § geriad w7 gi g

" For odd number of values (n), median is (n+1)/2.

K, HIT (n) 1 AvA g & v afegsr o+1)2 g
It is based on all observations of data.

V5 T 3dst & |l darort W omenfa gl B

It can be determined graphically.

X, 39 W@Ha ¥ Wuii@ e a1 asarn g



